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AT 7597 :

(i) 39 Y99-9F & gie YT, 3, &, G, T 3K T F qieT T 8 | 39l @t 9 F geAr
& I fer@d 8 |

Gi)  @gt go7 SfHar &

(iii) YT &, @, § 3K T F Jo7] § SHTakes =97 1e91 T 8 |

(v) YT 37 & Y97 &1 1 3K 2 UH-TF 3% & Yo7 & | 37 I Uk I 379a] Uh
FIFTH 378 |

(v) YT 3 F97 G&IT 3 @5 §1-31 37H] & I97 & | 599 I TTHT 30 Veg) Feib F a7
&/

(vi) YT @ 3 J97 G&IT 6 G 15 F7-di7 371 & J97 & | 579 IF AT 50 Veg] Fedih &
GTE

(vii) YT § % J97 G&IT 16 & 21 Tia-via 371 & J97 & | 579 I YT 70 5G] FAF
a8

(viii) YT T & ¥97 &7 22 & 27 FINTHE HIvIT W ATENRT 31-31 37H & J97 8 | 59%
G 3T G &

General Instructions :

(i) The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

(it)  All questions are compulsory.

(iti) Internal choice is given in Sections B, C, D and E.

(iv) Questions number 1 and 2 in Section A are one-mark questions. They are to be
answered in one word or in one sentence.

(v) Questions number 3 to 5 in Section B are two-marks questions. These are to be
answered in about 30 words each.

(vi)  Questions number 6 to 15 in Section C are three-marks questions. These are to
be answered in about 50 words each.

(vii) Questions number 16 to 21 in Section D are five-marks questions. These are to
be answered in about 70 words each.

(viii) Questions number 22 to 27 in Section E are based on practical skills. Each

question is a two-marks question. These are to be answered in brief.
AT A

SECTION A
1.  yfang & gfymr e i 35 S.1. 9 fafigu | 1

Define resistance. Give its S.I. unit.

2. W fodl @ a1 9m fafer e 3w 9k At & dfeed (S9F) |
IERIE G 1

Name any two elements that are used in fabricating solar cells.
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g
SECTION B

3. TR % WEdd o I fafEy 2

HAAAT
e sraadTh i i faRae ok 38 T &9 # =¥@a i | 2
State laws of reflection of light.
OR
Define absolute refractive index and express it mathematically.
4. Tt B g & IR R g & W@ S | 2
Draw magnetic field lines around a bar magnet.
5. O BT 8 9« fhE WEnelt # W Nfue Yeshlgial (WUATA) # de-sfe
Hh 5% AT AREm W faee fieamn S 8 2 vt e 6
TR & AT FHIfT | 2

What happens when 5% alkaline potassium permanganate solution is
added drop by drop to warm propyl alcohol (propanol) taken in a test
tube ? Explain with the help of a chemical equation.

e
SECTION C

6. SamH T g ? SarwHi 6l oy FuRw wE & g fafemi o @aw # auH
T | 3

What are fossils ? Describe briefly two methods of determining the age of
fossils.

7. id % fUSH ¥ TERA a1 T TR o fI&90T 1 1 HRT & ? TH GH h
g T WY 3ol feufd § w9 wdem wa & fow % R e W
ferfera: U vod YehTT % WEIM U9 % UY Wl g & o R smw
Hifem | 3

areran
TS ST TehIUM &1 3 ? 9 TNESHT 1 TN shich SATEAT hitolT foh (i) FTET
% T FF @AW R YA gl @, a9 (i) Tes TR e wIt Wdid g
g | 3
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What is the cause of dispersion of white light through a glass prism ?
Draw a ray diagram to show the path of light when two identical glass
prisms are arranged together in inverted position with respect to each
other and a narrow beam of white light is allowed to fall obliquely on one
of the faces of the prisms.

OR

What is scattering of light ? Use this phenomenon to explain why (i) the
Sun appears reddish at sun-rise, and (ii) the clear sky appears blue.

8. (a) TrafaRaa afufsrmett 1 fafte it & affertor i
i  AgNOs(aq) + NaCl(aq) ——> AgCl(s) + NaNOs(aq)
(i)  CaO(s) + HyO0() ——> Ca(OH)y(aq)
(i) 2KClOs(s) —2— 2KCl(aq) + 304(g)
(iv) Zn+CuSO; —> ZnSO, + Cu
(b) Tr=feifga seum =t dgfoa TS e & 9 § ARG HINT

“Sfem FEs, Wi aethe @ ifufshan otk UMM FlEs
IR e Gethe ST 2 17 3
BPC]

J9 fopet el § o (1) 8 &1 foetay ookt 3TW UM SRS o
T faema &, 9 S 198y 99aT B |

(a) 39 STFEY 1 FAT T BT 8 ? G&TUd Afieh 1 9 foAfam |
(b) 38 Afufskan w1 wqferd TamfS Trfie ffEu |

(c) afufshan < 37 & Wil i gt sARy oH 38 stfufsean i @ =
T 2 | 3

(a)  Classify the following reactions into different types :
1) AgNO3(aq) + NaCl(aq) —— AgCl(s) + NaNOg(aq)
(i)  CaO(s) + HoO(l) —— Ca(OH)y(aq)
(i) 2KClOs(s) —2— 2KCl(aq) + 304(g)

(iv)  Zn + CuSO4 ——> ZnSOy4 + Cu
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(b)  Translate the following statement into a balanced chemical

equation :

“Barium chloride reacts with aluminium sulphate to give

aluminium chloride and barium sulphate.”
OR

When potassium iodide solution is added to a solution of lead (II) nitrate
in a test tube, a precipitate is formed.

(a) What is the colour of this precipitate ? Name the compound
precipitated.

(b)  Write the balanced chemical equation for this reaction.

(c) List two types of reactions in which this reaction can be placed.

9. (a) IHfde SRl Fi FEfta 9w TE8 Rl I Jafh SastiaRnersi i
frafia awE 6t sravashar g 2 | F=&i 2
(b)  3TTHEH FAT & ? AfG Torelt TTRGH & Tq=eehi o1 qUf €9 & I &L ez
ST, T 3EehT ST IO BTN 2 379 3T o aedq § gfse Shifvw | 3
HAAAT
JIATEA b IAH TR W AWE hH TR F9d 8 ? $Hb Hed & IgW

FIT | 3O B & oI i ITERR B ? ATH-FH HI Th FIHH JHE
fafgu | 3

(a) Natural water bodies are not regularly cleaned whereas an

aquarium needs regular cleaning. Why ?

(b) What are decomposers ? What will be the consequence if the
decomposers are completely eradicated from an ecosystem ? Give

justification in support of your answer.
OR
How is ozone formed in the upper atmosphere ? State its importance.

What is responsible for its depletion ? Write one harmful effect of ozone
depletion.
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10. el  TEW < % forg efaet foreft waq IIeet &1 39T *d 7 |
(a) 39 WIS I 919 R TR g foafaw |
(b) 38 YIRS I fohE TR SR AT 8 ?

(c) 19 39 Yod IS i UHI o &1 AT T &, I Th Hak 3™ Uvg T
BT 2 | 39 qiEd o fog "qferd TEmafe wHier fafe |
(d) 39 WA B H HIE T R 37 fafaw | 3

A white powder is used by doctors to support fractured bones.

(a)  Write the name and chemical formula of the powder.
(b)  How is this powder prepared ?

(c) When this white powder is mixed with water, a hard solid mass is
obtained. Write a balanced chemical equation for the change.

(d)  Give one more use of this white powder.

11, ToRpqUel dfd o di sl i3 Pl frel Teailer ¥ Had 8 | =1 8 3e
forelt yoa B graeh ol
(a) PUSc o HaX gehalr ST ?
(b)  FHUST ¥ STET AT AW ?
(c) Fpusa o it feer @ smem 2
e e Bl RO Gl i HIRT | 3

A coil of insulated copper wire is connected to a galvanometer. What
would happen if a strong bar magnet is

(a)  pushed into the coil ?
(b)  withdrawn from inside the coil ?
(c) held stationary inside the coil ?

Give justification for each observation.

12. (a) HHY 3IMER 91 ° f=fafaa & @ fafew .
(i) AR (A1 W)
(i)  THE™ § HCI
(i) oo @
(1v) aﬁ N
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(b) T=fafaa Taed § v =1t s fafgu

()  ufeEm

(i) TS 3
(a)  Write the function of the following in the human alimentary canal :

(1) Saliva

(i1) HClin stomach
(iii)  Bile juice
(iv) Villi

(b)  Write one function each of the following enzymes :
(1) Pepsin
(i1) Lipase

13. (a) UEW (Ni) H abree 9 T&1 ran, T ofl, Afe g9 foret gaaeiia agd

1 TS HA &, o IHehl f B Y01 HA A giEdd B @ | S
SHifSTe foh a5 91eT STRI IEUA o WY ohH SRR TSR T 7 IR I
3rfshan fopm ehR T=mTfid Bt B |

(b) 39 g %1 T ferfaw et f=fataa & fore oo st 2
) frelt S Y e gty % R |
(i) el TR St H Hifwent faure @ g @ % faw | 3

(a) Plants do not have any nervous system but yet, if we touch a
sensitive plant, some observable changes take place in its leaves.
Explain how could this plant respond to the external stimuli and
how it is communicated.

(b) Name the hormone that needs to be administered to

1) increase the height of a dwarf plant.
(i)  cause rapid cell division in fruits and seeds.

14. <9 fafauar feg #gd & 2 a1 &1 “S9 fafagar & fau foftee wo@” w3 am
AT 8 2 SHIE o oIt STERT 31 hiehi i F= I-ET | 3

What is biodiversity ? Why are forests considered as “biodiversity hot
spots” ? List two factors responsible for causing deforestation.

15. dfshrar Joft & g8 SR o arqett & fsedu 6t fafy, afserar soft & aex
4 feora arqett & fassedu i fafy & form geer fig 7 2 396 fore oft o wfsean
FAT T8 AT ST 8 2 3 arge o fshyv it wfskan w1 A fafaw | 3

How is the method of extraction of metals high up in the reactivity series
different from that for metals in the middle ? Why can the same process
not be applied for them ? Name the process used for the extraction of
these metals.
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W 3
SECTION D

16. (a) TEHU R g w Afufshaedi & =, s & o gt
TR i ggrar 4, fade Hifu |
(b)  AHIfhd ITN@ & Y TEL s & Teh [hATheATd bl &Y H UM
HIT | 5

HAAT

T 3R IS H R A=) g ? Topell a6 W & faehs % ges &l g2 #
T <l AHTS Tkl 1 HEY § 3@ HINTT | ST I&T Sl 3K T § GHT gl
8, O T 1 ITANT Sgd T HAT 481 BT ? I GHET HT GHIEH 8 THR
IERIBSIIRN 5

(a)  Distinguish between esterification and saponification reactions
with the help of chemical equations for each.

(b)  With a labelled diagram describe in brief an activity to show the

formation of an ester.

OR

What is the difference between soaps and detergents ? State in brief the
cleansing action of soaps in removing an oily spot from a fabric. Why are
soaps not very effective when a fabric is washed in hard water ? How is
this problem resolved ?

17. I3 SAfed 3194 FA1 8 50 cm ¥ A gl hl SRGH| ! T A& <@ Wl |
(a) 39 AT % gfee W o1 W fafaw o 3@ g & 1 Fwrfad wRon 6t
A T |
(b) 3T ThLUT | Y ol g o foTu foptur @ Eifam |

(c) 39 A9 % GNYd % U 3T g1 IUAN fohU SIM a1l &1 Rl TR
faRgu 3t sEeht e uitefera $ifse | 7= <fifSe f6 o= 99 =
ﬁib_é%!@25cm%|

(d) IuFded TR | gfee QY o Hened o fofu Amifha o@ St | 5
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A person is unable to see objects distinctly placed within 50 cm from his
eyes.

(a) Name the defect of vision the person is suffering from and list its
two possible causes.

(b)  Draw a ray diagram to show the defect in the above case.

(c) Mention the type of lens used by him for the correction of the

defect and calculate its power. Assume that the near point for the
normal eye is 25 cm.

(d) Draw a labelled diagram for the correction of the defect in the
above case.

18. (a) 3fg forht doa o1 Soiegifaes fa=rm §id 8, a1 SHeh! GiSTehdT fohd T
faifa & St 8 2 38 a@@ i FESeear Faffa Sife e g
HHH 92 |

(b) = sygfies sTad arelt % $© T T T E | 39 a1 WA AT
hiseeh 4§ faar e B
A(4), B(9), C(14), D(19), E(20)
() 3ok fawITE i TemEdT 8 Wd Hi % 30 & fpe @ *
STeraH HI | T A 2 |
(i) HH-9 q I T9H T () & ? AqH W o THLT H BRI
3T |
(iii) 3UYFd Al H G AN A b {ohd T hl THATTh B 5t 7
IR A 2 5
(a) How is the valency of an element determined if its electronic

configuration is known ? Determine the valency of an element of
atomic no. 9.

(b)  Given below are some elements of the Modern Periodic Table.
Atomic numbers of the elements are given in parentheses :

A(4), B(9), C(14), D(19), E(20)

1) With the help of the electronic configuration, find out which
one of the above elements will have one electron in its
outermost shell.

(ii))  Which two elements belong to the same group ? Give
reasons for your answer.

(iii) Which one of the above elements belonging to the fourth
period has bigger atomic radius and why ?
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19. (a)

(b)

(a)

(b)

(a)

(b)

foga wifera <t afeamor e | Seear v & @@ & G0 @ @t R

gferie 1 IS foe[q amfem o Ioiar 8 | gm0 3iR gfeiy o ugi | wiferd

% o =9t ogeua Hhifa |

100 W; 220 V 3R 60 W; 220 V 0T o &l ToEq S 919d § 220 V

% fogd e @ gl € | Sedl g 59 | ot it 9 5 i | 5
arera

Toret s <Al ERdT ¥ A9 I8 Ry forg yeRr femTedtt fok v diee
foreht st @ aofisen & wnfora o gfatiesst Ry, Ry 3T Rg & Uiy &
Y% W § GHH 9T YaTfed gl 8 ?

Fra feu e uftuy o1 3rewE W, fEfaiaa s Hifse

G) 12 Q gfaUiges 9 yarfed 9m |

(i) Ay 3T Ay IISThI | =M, I IS B | 5
24 Q

6V §12Q

il

—~
.
~——

39
Define electric power. An electrical device of resistance R is
connected across a source of voltage V and draws a current I.
Derive an expression for power in terms of current and resistance.

Two electric bulbs rated 100 W; 220 V and 60 W; 220 V are
connected in parallel to an electric mains of 220 V. Find the
current drawn by the bulbs from the mains.

OR
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(a) How will you infer with the help of an experiment that the same

current flows through every part of the circuit containing three
resistors Ry, Ry and Rj in series connected to a battery of V volts ?

(b)  Study the following circuit and find out :

(1) Current in 12 Q resistor.
(i1))  Difference in the readings of A; and Ay, if any.

24 Q
5
T gV §129
S |
S

20. (a) IR JauA i aiam foafan | saeht @ fafet s =t ST |
(b) FS YR & UIEUl ! ITH & foIw 38 faem o1 3w =i foham wrar 2 2
(c) HHIfehd ARWI I TERAT | TSI H Gpod hl Ufsham i =

HifT | 5
STt
Ty fhR #ad 2 2 sueh 9w ffte fafte 6t w=ht samse | mitges gt
A & IR G9d HRoT iy | 5

(a)  Define vegetative propagation. List its two methods.
(b)  Why is this mode practised for growing some types of plants ?

(c) Explain the process of budding in Hydra with the help of labelled
diagrams.
OR

What is contraception ? List its four different methods. State four reasons
for adopting contraceptive methods.
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21. (@) WA % F T WA ¥ ¥ @R < I agen Hi g e S
ALY Hed 4 3794 TA | foram o | Hed o T g hd Udl Il
fop o1 e} SFrET T Bid 8 2

(b) TGI8 W H HEEAT H U I8y Tfuq a1 fo Aqa § foref
JaSTd o1 forrl foslg €9 8 0 990 g SR "rar-fuar § 9 foreft i off,
Faaird o foret fomre formm o fotu, Sorerft 7@ amn < wehar 8 2 5

(a)  List two visible traits of garden pea that Mendel considered in his
experiments. How do Mendel’s experiments show that traits may
be dominant or recessive ?

(b)  With the help of a flow diagram, how would you establish that in
human beings the sex of a newborn is purely a matter of chance
and none of the parents may be considered responsible for a
particular sex of a newborn child ?

qma
SECTION E

22. s B JINIH FANEE USS H HifeIH Tcthe IS Hamar 8 | 31 i uIssy
H A | 98 B T IiGad I HAM ? 0 IR hl gfe e 31

=T hifoe for a8 aifed uftads fora TR UTed T HehdT B | 2
AYAT
(a) Frfafgd agstt # 306 fifraiaar & mWd (Sd) #A o
mﬁ%tﬁﬁq:

Hr, T, Tgiutmg qur e
(b) IR Hewe faera & g i W e & 30 fme & wwarq o1
Aregeh # getag fopT I aret g1 Jeron <6t gt S8 | 2

A student mixes sodium sulphate powder in barium chloride powder.
What change would the student observe on mixing the two powders ?
Justify your answer and explain how he can obtain the desired change.

OR

(a) Arrange the following metals in the increasing order of their
reactivities :

Copper, Zinc, Aluminium and Iron

(b) List two observations you would record in your notebook
30 minutes after adding iron filings to copper sulphate solution.
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23. I3 foeF X pH 9 W IGh! B3 g FH W AT TT @1 &, Safh hig 34
faeraq v pH v W 38T g e o2 goeht el T1 a1 2 | 39 gl foerAl i
Thfd T 7 2 X 3 Y faeret % pH feifa fif | 2
A solution X’ gives orange colour when a drop of it falls on pH paper,
while another solution Y’ gives bluish colour when a drop of it falls on pH

paper. What is the nature of both the solutions ? Determine the pH of
solutions X’ and Y.

24, fafafaa oo omw =1 Ferm HifGT 3R 38 dfeF 5 o9 g H wmt a
FfeAt &1 = ST | forw AB i fRufa % dggEy s a9 ufdfers 6l
Ireafaes feufa it aes #t guiy & fau o foror s diwe 7 it =
Tenfea HifT | 2

A

oF; B F, O

AT

foret BT w1 forelt wiw & fsm @ oA arelt foor o1 vy SmRfEd #E 7 |
3Te® Ufumm UTed i o foTT 3Tk g Sl S areft =m argenf g
SHTST | 2
Study the following ray diagram and list two mistakes committed by the
student while tracing it. Rectify these mistakes by drawing the correct

ray diagram to show the real position and size of the image corresponding
to the position of the object AB.

A
F, 2F,

oF; B F, O

OR

A student has to trace the path of a ray of light through a glass prism.
List four precautions he should observe for better results.
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25. Tt ufeioss o i W favar &t w8 yarfgd faga g w fofa &
I HH & fore Fefafga S sxewen (ufiy) € 2 i =i 2 2

+F)=
R R
U
R
e HHHE=
B C

_ Y _
+ +
Which one of the following is the correct set-up for studying the

dependence of the current on the potential difference across a resistor
and why ?

.
g ; = b
R
) Esffe
B C

HHH =
A D

Ly L.

il =
A D
26. ‘Ui & i & fora foret o=ht <t farght <1 STeemlt sTiEw duR e = i
fafer = spremr = =wor fafEw | 2
AYAT
“Spia qd N FEA SEATFIEE BIed &, 39 A H IS Fewen o
gefea ffafaa gw i & 3w ff .

() B9 VIR FATh ol dIEg 1 T&d & ?
(i) YRR FAh & i W B WEelt § W AW et e &1 A
3R 3Th! et feaflm |
Gii) TrermE T ¥ 9 S = =g A 2 2
Write four sequential steps of the procedure of the experiment “Preparing
a temporary mount of a leaf peel to show stomata.”

OR
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In the experimental set-up to show that “the germinating seeds give out
carbon dioxide”, answer the following questions :

1) Why do we keep the conical flask airtight ?

(ii)) Name the substance kept in the small test tube inside the conical
flask. Write its role.

(iii) Why does water rise in the delivery tube ?

27. 3 V&I hl T FARY ek YR W g Ty fehren S @ fob & A
TATSe ITHIe H fgEued qui 8 | 2

List two observations on the basis of which it may be concluded that the
given slide shows binary fission in Amoeba.
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